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QUESTION 1

A supply request has been received in supply chain orchestration. Both organizations belong to the same legal entity
and they do not have a buy-sell relationship between them. 

Which type of execution document can fulfill the supply request? 

A. Transfer Order 

B. Purchase Requisitions 

C. Purchase Order 

D. Sales Order 

Correct Answer: A 

 

QUESTION 2

Given the set of navigation rules: 
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Which two define a valid flow of view IDs through the application? (Choose two.) 

A. home > goodbye > list-widgets 

B. dashboard > home > add-widget > list-widgets 

C. list-widgets > add-widget > home > dashboard > home 

D. home > list-widgets > add-widget > goodbye 

Correct Answer: CD 

 

QUESTION 3

Your customer is setting up serial control. The requirement is that if item A has serial 123, then they don\\'t want item B
to also have serial 123 within the same inventory organization. 

1Z0-900 VCE Dumps | 1Z0-900 Practice Test | 1Z0-900 Braindumps                                3 / 6

https://www.pass4itsure.com/1z0-900.html
https://www.pass4itsure.com/1z0-900.html
https://www.pass4itsure.com/1z0-900.html


https://www.pass4itsure.com/1z0-900.html
2024 Latest pass4itsure 1Z0-900 PDF and VCE dumps Download

Which serial control setting must be used to meet this requirement? 

A. Unique across Enterprise 

B. Unique within items 

C. Unique within organization 

D. Unique across organizations 

E. Unique within Item and organization 

Correct Answer: C 

 

QUESTION 4

What are the four steps for the move request process flow? 

A. Create shipment 

B. Create Movement Request 

C. Confirm pick slips 

D. Run the Movement Request Pick Slip Report 

E. Physically move the material 

F. Run pick slip allocation 

Correct Answer: BCDE 

 

QUESTION 5

Which two statements are true in regard to using the Enterprise Structures Configuration? (Choose two.) 

A. It recommends job and position structures. 

B. It allows you to create your Enterprise, Business Units, and Warehouses in a single step. 

C. You cannot modify the recommendation from the tool. You must do it after you perform the initial configuration. 

D. The guided interview-based process helps you set up the enterprise with best practices. 

E. It creates the chart of accounts. 

Correct Answer: BD 

 

QUESTION 6

You are a shop floor manager and you have received an order which is a back-to-back order in nature. You need to
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reserve 100 pieces of an item in order to finish you order. However, there are only 50 pieces available for reservation. 

If you process this request, how many pieces are provided as the fulfillment for the order? 

A. 50 pieces, because full 100 quantities are not available. 

B. 25 pieces, only half of the quantities can be reserved. 

C. 0 pieces, because partial fulfillment of reservation not supported. 

D. 100 pieces, 50 from on-hand and 50 in the form of a purchase order. 

Correct Answer: C 

 

QUESTION 7

Given the code fragment: 

How long does this cookie persist? 

A. until server shutdown 

B. until garbage collection in the servlet instance 

C. this request 

D. until browser shutdown 

Correct Answer: D 

Reference: https://docs.oracle.com/javaee/6/api/javax/servlet/http/Cookie.html 

 

QUESTION 8

Which annotation allows a request to be executed with another Principal\\'s identity? 

A. It is not possible to execute a request with another Principal\\'s identity. 

B. @UseIdentity 

C. @RolesAllowed 

D. @Runs 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E19798-01/821-1841/6nmq2cpig/index.html 
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QUESTION 9

Which three values are applicable for the profile option - "Transaction Processing Mode" for subinventory transfer and
interorganization transfer? 

A. Background Processing 

B. Sequential Processing 

C. Concurrent Processing 

D. Online Processing 

E. Offline Processing F. Blind Processing 

Correct Answer: ACD 

 

QUESTION 10

Which code snippet indicates that the page you are designing is capable of handling errors? 

A.  

B.
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